Stainless Steel Pull

UHFS-PE x#an=z

[SUSEZ)

-

MAN&MACHINE
ELEMENTS

=
< E= ﬁf )
. \ ’ , )
[}
IR i (2%
I ] el ol f
M L1 ‘
w L o RER,
o HE. REE 0o o BAETIUE, TREMRELREROBRK. R,
I o e ((UHFS-12] 350, IR B, SR EEE NS
- SUS303%2 BEAEMN,
E3 . ot s o N .
RS ® G RERMNANAEE LIRS (SUSXMT7H]), &
2 SUEERE EFRB L MRS (BRASI.
P LB
(BLHHRS) SuSXM7
1: [UHFS-12) FHSRE.
*2: [UHFS-12]33SUS304,

B mm
= BFEE* o R 4L M AR S5
ne A L1 D H L Lf M w o) FE(Q) oot
UHFS-8-55-PE | 8 55 12 40 67 9 M4 36 1000 57 M4x10
UHFS-8-64-PE | 8 64 12 40 76 9 M4 36 1000 61 M4x 10
UHFS-8-88-PE | 8 88 12 40 100 9 M4 36 1000 70 M4x 10
UHFS-8-96-PE | 8 96 12 40 108 9 M4 36 1000 75 M4x 10
UHFS-8-100-PE | 8 100 12 40 12 9 M4 36 1000 70 M4x 10
UHFS-10-88-PE |10 88 15 47 103 13 M5 425 1000 113 M5x 12
UHFS-10-100-PE |10 100 15 47 115 13 M5 425 1000 123 M5x 12
UHFS-10-120-PE |10 120 15 47 135 13 M5 425 1000 131 M5x 12
UHFS-10-180-PE |10 180 15 47 195 13 M5 425 1000 176 M5x 12
UHFS-10-200-PE |10 200 15 47 215 13 M5 425 1000 189 M5x 12
UHFS-12-125-PE |12 125 - 60 137 12 M6 50 1000 220 M6 x 12
UHFS-12-160-PE |12 160 - 60 172 12 M6 50 1000 252 M6 X 12
UHFS-12-200-PE 12 200 - 60 212 12 M6 50 1000 280 M6x 12
UHFS-12-250-PE |12 250 - 60 262 12 M6 50 1000 350 M6 x 12
*1: FRNNSEEE.

o BSIETFE
I
\ r—
92 22
(-2
ERBAHHNERS (RAS) N, EECRRSnRREMm P,
TV TLBEE - T E5E = Pxxxx & HHRIED = Pxxxx
HSA AN, WART
N NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



